Mo U400
WeeX 6 - Tvesémz

Swif ci\)\ners Ma D%k « Hellmna,

A basic dift ¢ ?Mcr.

3"3\/\'&\4’
HELLDO APCDE.... ANZ
! \\_k\k \}m

KHOO R ASCcD CFR._XYZARC



To encode, shifk ench \e,prer 19(0 S,
To Qe wée/ G\IG‘Q' eac\« le'\-\lr \4_7 —3.
Exo\nf)\e'. Dccaéif\a CHE U D

ZEB RA

Nothing specl ok 2 & e ilt b,

QMO \ﬂ‘\'&bef V\ C\ﬂ\l\‘ Ol\lta Aever\t\j
in K mod 26)

Pro‘p\cm - T‘F T Xnow Yov are uima [N S\nho—}-
Cuyphe; ad wad b decsde an ‘cf\\he‘,’ﬁeé NeSShgy ¢,
L e :)vs)r tey al 26 Wl

%6“']@( — C,\/\N\ac, Q«c s\,“.ﬂ— r{‘—l_(n-.

TeN MoV KeEYS Yick 3

L VJJ
Shefh bu Ko ik, sl b K A‘X’(\mﬂ- C



S S W K g

Mow  26° posrille ek [

%\/'\' ‘(‘F Mice WM‘fC \'0 COMl\Acho\-\e w(\«-\/l %o\o/
\\ow Can ‘-\&l? MQV\L Sure. 'L\e\a \Da“\ \KMV \"\\-(/

F\é\AX‘ S\‘i‘ﬂ'& wix\\ou\c ﬁ\f\aon(. E\S(', ‘Pméh\ﬁ 0(/)’ 7

‘T\:e, BTﬂC’DTc,'HB“MN\ keta eXC\I\N\ﬂﬁ,

(_A Wvua "0 eS)rab\'ts\\ N S\M\rc} Seord us‘mb
Pu\o\i(, Conmunicatirn c,\mme.\s\'

Se-\-u‘)f C‘/\oaso n leme, \) O\r\A .
(1} P(“\Md’i\lb Taa"--)‘ 66 ‘F?X . V{naulebac

Example: p=24 . 4=2.



| 1 "0

(700\\'. For Alie md Bob Yo ae\' & shared
Sectek A hn e\e,meﬁ]( Ze [FPX
1’\/\0\* o(\lta -\Xnua K(\ow,

s\'EQ \: A\(u, w\é %o\a\em\« ?‘»c\& I\ CPr‘\w\'\'ﬁ\

~N
numbers LN on & b

EXM«‘)\C . = 10 L= Vg

S)-ee 7. A\ice soaés Y>a\o Z(/T 6\0 Moé P
Bob  sends  Alice { = 9 Mod p

Evamle X243 2% 0d 24 Y=13 = 2% wd 2.

S“'ef 3 A\'\ce, Conru{c‘s Z = 'Ym=(gby\'= 8\7\ Na] ?
]
- vP_,a\b_ ab

¥l camvulcs = X -(8) = 3 o p.

EKOU’\’[C: Z: \31057 mué 24 & Aiee's CO"\PU\‘M‘HM
Z: q‘% =7/ “'*UA 4 & ?c\v\S cu\Pdlq‘k/‘\‘

T\\c S\Am) §ec,l‘¢\~ ® 7/ TL\E% can So:ce[‘g
USe f+ fr Q\«iﬂ- cavhr (-Br~\ivme v\ d\o»



oy -

a‘ nena éc\ O\"

o m
{ é D\‘c ;.: “ a’ nen éc\ (PN \:

Ve | ]
-




X | V [ ] = —
Y | | v |
v [

7 |

——

10 COMfU\‘C/ Z/ EVC l\e.eAS ¥0 Kaow

a oc b
w:X \0.:\{
6@ 2 N
N\ < \o(aax \0: \00(6\(

/(bigc.\‘e ¢t \Ogo\ﬂ\x\w\\\ C \'@ in a ’Q"“‘lf ‘Fieu)

E\((‘M\[lc: TO C_Ol"\")u\'(, \031 1 tn WU\ ,
bﬁ”w\“'—b Qv«, m\\o‘ Wog b \‘)Vgl- \'\QL ou)—

(1\\ eawut r)‘\\’ L u'\m “Be fiad Xénc rto\asr ine.

Tn K-
e B A A G K S A I
221 =6 = Ut 9%: g
2%= 4 lJQL(-:(O &~ T 5.8 Ald ;cm}_
So can geb 2= Y= 3'=7
)\}03, '\M‘\oss\\\e, ;)usx— \I\j\_r;_ EP ? ts Very \moc,
(Ta tnpasin, Mie md Bob only Yee b0 conpule



[ © ]

2 Qawers eadn‘f>

y: TP K o Rk Reld, ge\l/\x

S @ (‘ir\I\—Ivc Foot F

KX: i%b, 6\/ 52/ .- s
l.e. §¥ e\ler\ﬁ e\enc.\\~ a-c KX 1§ @« Pomr‘ﬂp 8




